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100,000& *7H+23 1,400
5,900

500&+7,0000H 3,500

60,00024+403] 2,400
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500&*1,60001*23 1,600
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54,000 75,000 /21,000
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54,000 75,000 221,000
S Y ES
18,000, 000& * 14! 18,000
16,000, 0003 * 14! 16,000

20,000,000 * 14! 20,000

1,624,212 164,000 1,360,212




SA DESHFD
M NSAU(NELSR/UELS - 27SIIEH
27 wse3 (Chol: &)
SH - EHH . O(3) - NRAIY - B Ofl st e RS2
11 A X2 2 16,500 12,000 4,500
ORYSLZAIR DSMAIX| 248t
16,500,0002 %14 16,500
14 J|EtR A2 1,507,712 152,000 1,355,712
ONEHER20| 2
40,0002%30 190 228,000
OHA, EHAl 0|2 FFAIBUE £ 651,720
—HAHA E2Y]
120,000 *58CH+ 122 83,520
—FAIHA 2T 7,400,000 % 14! 7,400
—SAl 22 100, 00021 x459CH 122 550,800
—EHAl SEl 10,000,000 * 14! 10,000
OnEIIE 2% X 440,720
—WEIICSARR Eol 1|
10024% 1,800,000 180,000
—WEIIE ABLLE XY
2,000,000,00024*15/1,000 30,000
—uEJIE s I
1,40024%130,000% 182,000
—WEIIE S| R B3]
70,0002 +58C} * 12 48,720
OEHAl FIIEZHD| € 29 X2 187,272
—JIEZMI| S SHAEE
11,0002 %4590 * 122 60,583
—IIEZHI| AlBS2E
23,0002 *459CH+ 122 126,684
307 QI2t01H 33,600 1,737,569 1,703,969
02 QIFAAAIIE R 33,600 33,420 180
OFXEN QI2tes HT 2= N2(BXS 80%)
4,500,000 %141%80/100 3,600
OZNESs M=t 2 NERN =2 KA
(BEX8 HY) 22,000,000 %14l 22,000
O0f2l0] Sotw NEXE L HEEBS XA
(BX8 HY) 3,000,000 14! 3,000
ONEOHE AIRIZAMNSE| XA (EXS 80%)
6,250,0002 * 1A1%80/100 5,000
(2)Z2EHA| XA 300,000 300,000 0
z 79,000
Al 79,000
= 142,000
301 LBtEEa 300,000 300,000 0
= 79,000
Al 79,000
= 142,000
14 J|EtR A2 300,000 300,000 0




SN RSB
Mo DSUR|(DELSH/USLE - 2RSIIEH
S WSHd (CHol: M)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OZ=gEA NN (E=EA 2F 24)
300,000, 000! 14! 300,000
2 79,000
Al 79,000
= 142,000
(2)2BEHA NS 458,000 400,000 58,000
2 100,000
Al 100,000
= 258,000
307 212+0 & 458,000 400,000 58,000
2 100,000
Al 100,000
= 258,000
09 E+YHEZES 458,000 400,000 58,000
O33gHA X2 458,000,000 %14l 458,000
2 100,000
Al 100,000
= 258,000
~QSYE ELE AAY 7= & 29 5,400 3,600 1,800
308 XIXIEHHISOIA 5,400 3,600 1,800
13 2| 2SO Z AERIEASH] 5,400 3,600 1,800
OZTHUAl SBBAAY KX 22
5,400,008 14! 5,400
(2)ZALZWSIIE 27 OFLeIX X 9,000 4,200 4,800
=2 4,500
Al 4,500
308 XHXIEHHI S0/ 9,000 4,200 4,800
2 4,500
Al 4,500
13 2| 2SO Z AERIEASH] 9,000 4,200 4,800
OLEDEIIE o1 DHL2IX X
9,000,000 14! 9,000
=2 4,500
Al 4,500
(R)S2DS+7L 46,000 96,000 50,000
=2 23,000
= 6,900
Al 16, 100
405 XHHE S 46,000 96,000 50,000
=2 23,000
= 6,900
Al 16. 100
01 XA USEFSH| 46,000 96,000 50,000
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2A - HH - H(SH) - MRAIY - BES Ol &K Ol Aton Hns2
OSgussc 22 X2
46,000,000 % 1CH 46,000
= 23,000
[ 6,900
Al 16,100
(C) DEX2FHG| KR BHLOIHIE 2 20,000 22,000 A2,000
[ 6,000
Al 14,000
301 YB3 20,000 22,000 A2,000
[ 6,000
Al 14,000
14 JIEt2AS 20,000 22,000 22,000
ODEX SXSF| K&ElgHt QIMIEIE
20,000,000 x 14! 20,000
[ 6,000
Al 14,000
(2) DB R L E A SHALY 22,000 20,000 2,000
= 6,600
Al 15,400
301 YB3 22,000 20,000 2,000
= 6,600
Al 15,400
14 DBt A2 22,000 20,000 2,000
ODNYX SFeI5 KR SASIAN
22,000,000 x 14! 22,000
= 6,600
Al 15,400
(2)HAILXBAXA 795,000 665,000 130,000
= 66,300
[ 46,410
Al 108,290
= 574,000
301 LBtEXSZ 795,000 665,000 130,000
= 66,300
[ 46,410
Al 108,290
= 574,000
14 JIE2AS 795,000 665,000 130,000
OEHAIZRHE A K 2 AFS
795,000,000 * 14! 795,000
= 66,300
[ 46,410
Al 108,290
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574,000
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I DSA(NSYSR/UELS - 2RSIIE)

S WSHd (CHol: M)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
(2)SENELE 29| 730,260 0 730,260

2 104,500
Al 104,500
= 521,260
307 2I2F0IA 730,260 0 730,260
2 104,500
Al 104,500
= 521,260
05 QIZHQIES 730,260 0 730,260
OSEnS4c 22|
104,500,000 % 14! 104,500
2 104,500
OSENSHE 2HHI(XHH)
625,760,0002* 14! 625,760
Al 104,500
== 521,260
(2)UHEREH SSTAA 15,400 0 15,400
2 7,700
Al 7,700
308 AEXIEHHISOIA 15,400 0 15,400
2 7,700
Al 7,700
13 2IIZS0ICHEHB A QLA 15,400 0 15,400
OU=nEY 821
15,400,00024% 14| 15,400
2 7,700
Al 7,700
LAY 22| 12,634,860 11,525,518 1,109,342
2 230,000
2 75,000
< 260,283
Al 12,069,577
24U 2N 5,488,698 5,488,698 0
307 2I2HOIA 5,488,698 5,488,698
09 24+UAHEXS 5,488,698 5,488,698 0
O2LAN RNEXS(BES FHH) 5,488,698
—HA 380.092*1,500,000 ¢ 570,135
—EHAl 197.9724%3,900, 000 £ 772,083
—st= 345.542%12,000,000 £ 4,146,480
HiZo! Laze 5,750,000 5,250,000 500,000
307 2I2H0IA 5,750,000 5,250,000 500,000
09 24+UAHEXS 5,750,000 5,250,000 500,000
OS0EHA S M HEEX(EXE FY)
5,500,000,00024% 14! 5,500,000
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S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OHA SR Al 12 ZEEX(EX8 F)
250,000, 0009 %14} 250,000
(S)ANUHL SO EHARSAILTHE XA 216,860 311,082 £G4, 172
== 108,430
Al 108,430
307 2I2F0IA 216,860 311,082 N4, 172
== 108,430
Al 108,430
09 2L+LHEZES 216,860 311,082 N4, 172
OAL & SOEHA HE & 2&Xe
216,860,000&*14] 216,860
< 108,430
Al 108,430
HARBAIAH2Y 248,521 244,465 4,056
201 YLEr2H| 6,750 3,288 3,462
02 2229H| 6,750 3,288 3,462
OHAFBOILYII(BIT) BIIQ2
562,50081% 122 6.750
308 XIXISHHSOIA 116,771 116,177 594
13 212 SOIHEHE A H S A 116,771 116,177 594
OHAZEAIAR(BIS) K244
116,771,00024% 14! 116,771
403 REXISHRISKH2 01 125,000 125,000
02 2| 2-SOICHEHRHE = RIS AL 125,000 125,000
OHAZEZOHAII(BIT) X At
12,500,0002 1074 4 125,000
(SN S0ZE HA HEXXI 75,000 15,000 60,000
= 13,200
Al 61,800
402 RIZERH20IA 75,000 0 75,000
< 13,200
Al 61,800
02 QIEXHE A2 E(OIFTH ) 75,000 0 75,000
OAMLHSOIEHA HEIXH X2
15,000, 0002 *5CH 75,000
< 13,200
Al 61,800
EAISBEZ ALY 2K 5,128 6,442 A1,314
308 XIXISHHISOIA 5,128 6,442 A1,314
13 212 SOIHEH-E A H SIS AL 5,128 6,442 A1,314
OAISHFBRAAAL 22 AlH| X
5,128,00024% 14| 5,128
()= X 253,853 168,721 85,132
2 75,000
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o
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HEE

S - BB - BRI(S]) - HRAY - BAS Oil kot Gl o HlmS2
< 16,853
Al 162,000
307 eI2+o| & 253,853 168,721 85,132
s 75,000
& 16,853
Al 162,000
09 2+FHEES 253,853 168,721 85,132
OgAs X 253,853, 0002 * 14! 253,853
s 75,000
& 16,853
Al 162,000
(2)NSAXE At HAHA PAXA 460,000 0 460,000
= 230,000
& 69,000
Al 161,000
402 QIZHERHE01A 460,000 0 460,000
= 230,000
== 69,000
Al 161,000
02 CIZEXI= AL B (0| M THS) 460,000 0 460,000
OuUSANE st HAHA 2R
92,000, 0002 *5CH 460,000
= 230,000
== 69,000
Al 161,000
(Z)BASXIE DI L H-EIHE ALY 16,800 33,240 A16,440
& 16,800
307 eI2+o| & 16,800 33,240 216,440
== 16,800
09 2xFHEES 16,800 33,240 A16,440
OWLXISXIEDIE S>3 A
16,800,000+ 14! 16,800
== 16,800
(Z)=SEHARHXIA 30,000 0 30,000
== 9,000
Al 21,000
402 QI2EXH=0|H 30,000 0 30,000
== 9,000
Al 21,000
02 CIZEXI= AL B (0| M THS) 30,000 0 30,000
OL-SEA|DHIXIS 1,500, 000 +20CH 30,000
== 9,000
Al 21,000




SA DESHFD
HI: DSH(NELER/HELS - SREJIEH
el 2EAY 2el (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
BN ENERNENE 90,000 0 90,000
[ 27,000
Al 63,000
307 QI2t01A 90,000 0 90,000
[ 27,000
Al 63,000
09 24UHEBEZ 90,000 0 90,000
ONHXSIIEOIE X2
90,000,000 % 14! 90,000
[ 27,000
Al 63,000
WEAL SFFH| 6,863,884 6,764,470 9,414
p) 20,046
[ 1,429,429
Al 5,414,409
WEALS 22 3,636,700 2,899,140 737,560
201 LB 287,700 206,290 81,410
01 AlR2r2lH] 34,500 1,000 33,500
ONSOHEAILS &X| ADEL (S50, 282)
50,00024203] 1,000
ONSAID 0 E22E HZ 33,500
—LEDREE 10,00024*2007H 2,000
—XEH MRS 10,00024*3007H 3,000
—BFALK] 5,000 %4004 2,000
—OFZXIZ0] 18,0002 *500H 9,000
—OZEA| 6,000 *25001 1,500
— KNSt RA 15,0002 *200H 3,000
—O{E0| ot AL 8,000 1,0004 8,000
—O{2I01F& Db Y
5,00024%1,000H 5,000
02 2229 253,200 205,290 47,910
ONEANEES H)| L E40IR2 205,200
s s &8Iz 11,000,000 %12 132,000
—ADIEECUEE, SR ®MI|I22
4,600,0002* 122 55,200
—ADIEETUBEE, 52" SAR2
1,500,000 * 122 18,000
Oolct=3tn2t KXl 48,000
—HIIZAHI(AS, D)
2,000,0002 %54 10,000
—HIIZAHI(D) 1,300, 0002 *20CH 26,000
—Stl= 40,0004 *25CH* 1200 12,000
401 Al&HIL20HY] 3,349,000 2,659,350 689,650
01 Al&H| 3,344,000 2,654,350 689,650
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500,0002 %1007 4~
12,000,000 %79 2

1,840,000 #2501 A&

70,000,000 *3IH 2~

4,000 +30,000m
2,000&110,000m

4,000:&*10,000m
2,000:&+30,000m

4,000&*20,000m
2,000&+15,000m

10,0002 *3,000m
2,000&+10,000m

2,000 %200, 000m

20,0002 *5,0009H 2
- WXl

2,000,000& #3070 2

2,000,000& 7012

ORSAHEXT S 2B DA
—E(UIA, FEA

5,000, 000& 357 2
3,000,000 & #4574 2
200, 0003 #3542~

2,000, 000& #2001 2
100,000& 1500 2

50,000, 0003 *5IH A

1,000, 000& #2001 A
70,000,000 *39 2
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84,000

46,000
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40,000
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SN DEMH™D
HM: DNEU(NELSR/UEDE - 28SIIE
S WESAIE ESEEY| (cHol: M)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
OO0l sS4l S0ICHSEH Ald
6,000,000 %57 A 30,000
OZF28 g2 &3 130,000
—2FBMSAH2] 2 9HA
12,300,0002 % 1074 A 123,000
—0lAHH HZASA0IUZI0IR 2H(Z=DIEN
Ofl &) 7,000,000 %1742 7,000
OWEALALDXIE AL IS
10,000, 0002 %57 A 50,000
OULr=EsR|210] AX]
20,000,000 %204 A 40,000
OEU=HISXIT2H K
500, 0002 *2007H A 100,000
OHA S2E 44X L 0lA 100,000
—CAIE HAS2R
10,000,000 *57H A 50,000
—SES HASUR
10,000,000 *57H A 50,000
OSSR T L AlLE2 FH
1,000, 0002 *407H A 40,000
OADIESYE AX|
70,000,000 %204 A 140,000
OADIESYE FH| 9 24
5,000,0002* 1074 A 50,000
OADIES2E AAHKX B2
22,000,0002* 14! 22,000
OO0lAkE QF =& 2+210] AX|(Z=DIEH0{0AH
20,000,000 * 14! 20,000
03 AlZSTHHI 5,000 5,000 0
ONSCHNAIES S &1 L RNES
5,000,0002* 14! 5,000
NEXA =2 242,374 225,330 17,044
101 Q124 9,261 93,966 2,295
M IIHR22IEES 9,261 93,966 2,295
O2Y = - 3x g0 94,341
—oI=Y 78,880 24240 75,725
-5 78,880 %4 B %48 15,145
—E XY 78,8802 x4+ 11 3,471
O2Y Z= - HX S508 TI=H|(JI2H) 1,920
—-3= 150, 0002 x4 212 600
—ot= 100,000 %421 = 400
—QHM st 100,000 x4 22 = 800
—2Xx 30,000 x4« 1=F 120
201 L2 S 121,014 112,864 8,150
01 AF222IHI 16,671 14,903 1,768
OS2 = - HI o Al oIy 6,500




SN NS
M NSA(USLEF/UEWE - SF/SIIED
£Hel: wSAlE SA3EH| (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
NI 13024+ 10, 0000H 1,300
— AR EXIA 13024%10,0000H 1,300
—=ER20IXA 130210, 0000H 1,300
—S=(HIE) XA 130=1%10, 0000H 1,300
—AZSTIA 1302%5, 00004 650
—HE2SE M 13024%5,0000H 650
O=2Y = HIt o002 II=H|(FRE) 3,120
-s= 150,000 *6%* 12t =0
—ot= 100,000 #6 3 %1 = 600
—OHxI3} 100000216 Y 2= 1,200
i 20,0002 «62 »2&} 240
—24 30,0002 «6% 12 180
OLEEN HE 6,100
—s=g 60,0004+ 107H*63] 3,600
=20 2 IR 5,000 *200H4 1,000
—= . HX2X EE Mo
1002%3Z+5, 00004 1,500
OSY F - i} 012 UBE2H|(SHSRAAIRA)
951
—orNEE 10,0002 %35+ 122 360
—H483 10,000&*3E+ 128 360
—MYII2E(50L) 960 *20 A 12 231
02 222 104,343 97,961 6,382
OS2 = - Xt POICHEAIAEI(CCTY) HIIQ2
20,0002%27 CH* 122 6,480
OSY = - HXt POICHEAIAEI(CCTV) SHAlEE
100,000 %27 CH+ 122 32,400
OSY - M ts L2 AIAH S4E ¢
SMAEE 3,120
—SHEHAMEZ 110,000 * 12 1,320
—SAAEZ 150,000 * 12 1,800
OY F - X 201t It |XES 46,870
—FEAl CCTV 115,4004+27CH* 122 37,390
—0l=A! CCTV 395,000+ * 122 9,480
OREHER| xtzae] Marmz ) S|
350,000 % 12 4,200
OS2Y = - X SHEYBAAH QXL
573,583 128 6,883
O2Y T - IX UEE L DTHR| e 203 DXIA
LRI 4,3%
—RH YERI 43021 %380H* 122 1,961
—S)|19W g=e3
2,5302%8024+ 122 2,429
401 Al&HI L2 0HH 23,599 5,000 18,599
01 Al&H] 23,599 5,000 18,599
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EF/UHsnsE - 25SJI1EY

HEE

2A - HH - H(SH) - MRAIY - BES Ol &K Ol Aton Hns2
O2Y = AXSXNEXE X
5,000,000 14l 5,000
O=2Y = - FXt DEA! CTV =S2H| Al 18,599
—CHSItHHI et 3,205,000 %2 0 A 6,410
— 22| A 2,745,00021% 14 2,745
—QH X B 3,108,000 *3J4 2 9,324
—EgpLE 120,00024%14! 120
405 KHAHE SH 1,500 13,500 12,000
01 AL SEFSY| 1,500 13,500 A 12,000
OS2Y = =018 )32 X4 1,500
—&5 OX wHl 250,0002*62¢ 1,500
(S)HEI0IBS A N AL (R EFALRY) 600,000 300,000 300,000
[ 300,000
Al 300,000
401 Al&HI L2 0HH 600,000 300,000 300,000
[ 300,000
Al 300,000
01 Al&H] 600,000 300,000 300,000
ONRI0IES AN LAY
600,000,000 x 14! 600,000
[ 300,000
Al 300,000
(S)=01B5 Y A (M EFALSY) 300,000 50,000 250,000
[ 150,000
Al 150,000
401 AlEHI L2 0HH 300,000 50,000 250,000
[ 150,000
Al 150,000
01 Al&H] 300,000 50,000 250,000
OL Q2SR MALY
300,000,000 * 14! 300,000
[ 150,000
Al 150,000
(C)NEHMAILEZ ALY 173,000 490,000 317,000
[ 51,900
Al 121,100
401 Al&EHI L2 0HH 173,000 490,000 317,000
[ 51,900
Al 121,100
01 Al&H] 173,000 490,000 317,000
OZF28 28o2: 44X
3,000,000 *6IH 2 18,000
[ 5,400
Al 12,600




2A: nS3EFW
Hu: DSV (RELSF/USDE - 25SIIEN
Sl DEAS ST (ol mz)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
Obie s Se#dss &x
50,000,000 *1JH 2 50,000
= 15,000
Al 35,000
OtIs(t% s BEZ)Itoet
25,000,000& 1004 25,000
& 7,500
Al 17,500
Odss HXNY 100,000 & *300 K 30,000
= 9,000
Al 21,000
OQEUUF=EX2KIF2t SAEA
500,000 601 2 30,000
& 9,000
Al 21,000
oggEa 23X J171 &xl
20,000,000 *1J 2 20,000
= 6,000
Al 14,000
(Z)0t=S2 AgordY THAIY 78,400 78,400
& 23,520
Al 54,830
401 Al&HIZL 20| 78,400 78,400
& 23,520
Al 54,830
01 Al&H| 78,400 78,400
O0rSg A2 TEAMH (4004 )
20,0003 =3,920m 78,400
= 23,520
Al 54,880
(C)HHSHEHSI A T LA (HSALY) 1,800,000 1,800,000
& 900,000
Al 900,000
401 Al &HIZL 20| 1,800,000 1,800,000
& 900,000
Al 900,000
01 Al&H| 1,800,000 1,800,000
QuEASI| WA AL
700,000, 000& 14! 700,000
= 350,000
Al 350,000
OEUET AIEZ2 IHH
600,000,000 *14] 600,000
& 300,000
Al 300,000
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ZH: nsael
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cH):

HEE

2A - HH - H(SH) - MRAIY - BES Ol AFol 2t
OAQISZSIAIS (B2 S HX)
200,000, 0002 %14 200,000
[ 100,000
Al 100,000
OB Z2INA ALY 200,000,000 * 14! 200,000
[ 100,000
Al 100,000
ONSEXE S HHAY
100,000,0002* 14! 100,000
[ 50,000
Al 50,000
(R)loTI|Bt C2XYAH| FAAFY QT = 33,410 0 33,410
7l 20,046
[ 4,009
Al 9,355
401 AlEHI 22 0HH 33,410 0 33,410
7l 20,046
[ 4,009
Al 9,355
01 Al&H] 33,410 0 33,410
OioTI Bt 2 XA A E 2 [ H
33,410,0002 % 14! 33,410
7l 20,046
[ 4,009
Al 9,355
s=2el 22,994 21,368 1,626
2UAM | H el 22,994 21,368 1,626
01 LEH2HH| 22,994 21,368 1,626
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